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BE | 4. SH6ERE SH7EE e MmhRE
5oy |BERRE I Erae T ame | se@E | 5itoE |B%|ezek| T2 07 |$E&ASA
A LB 1,163| R6.10.1 1,226 63] 63] +0 8/THEEE 10A3H
A | #EI 1,162| R6.10.1 1,225 63| 63 +0 8/8HEEE 10848
A KR 1,114| R6.10.1 1177 63| 63 +0 8/19%E%& |10H16H
A BE 1,078 R6.10.1 1,141 63| 63 +0 8/8HEEE 11818
A =5 1,077 R6.10.1 1,140 63] 63| *0 8/214E5% 108 18H
A FE 1,076 R6.10.1 1,140 64| 63| + 1 8/THEEE 10838
B AR 1,058| R6.10.1 1,122 64| 63] + 1 8/27%5%E |11H21H
B EE 1,052| R6.10.1 1,116 64| 63| + 1 8/8HEEE 10848
B &%l 1,034| R6.10.1 1,097 63] 63| =0 8/26452E 11A1H
B =5 1,023| R6.10.1 1,087 64| 63| + 1 8/15%5% |11H21H
B LS 1,020| R6.10.1 1,085 65| 63| + 2 8/18%5% 11A1H
B HE 1,017| R6.10.1 1,080 63| 63 +0 8/8HEEE 1085H
B | dtiE&E 1,010| R6.10.1 1,075 65| 63| + 2 8/8HEEE 10848
B I 1,005 R6.10.1 1,074 69] 63| + 6 8/18%5% |10H12H
B AR 1,004| R6.10.1 1,068 64| 63| + 1 8/5%5 2% 1081H
B Ik B 1,001| R6.10.1 1,065 64| 63| + 1 8/21%5% |10H18H
B =W 998 R6.10.1 1,062 64| 63| + 1 8/18%E%& |10R12H
B EH 998| R6.10.1 1,061 63| 63 +0 8/THEEE 1083H
B il 992 R6.10.5 1,057 65| 63| + 2 8/20%t2 |11H16H
B g 988| R6.10.1 1,052 64 63| + 1 8/2THEEE 12A1H
B =B 986| R6.10.1 1,051 65 63| + 2 8/8HEEE 118168
B HE 985| R6.10.4 1,063 78| 63| + 15 8/26%EE 3A1H
B it 985| R6.10.1 1,050 65 63| + 2 8/6%E TR 10828
B Z=pll| 984| R6.10.5 1,054 70| 63| + 7 8/1245%8 10A8H
B i=Eix 984| R6.10.5 1,053 69| 63| + 6 8/124E%E 1088H
B fif] LY 982| R6.10.2 1,047 65| 63| + 2 8/20%5%F 12A1H
B | #0&kl 980| R6.10.1 1,045 65| 63| + 2 8/21%5 % 11A1H
B ‘e 980 R6.11.1 1,046 66] 63| + 3 9/ 1$EE 1818
B o 979 R6.10.1 1,043 64| 63| + 1 8/19%E% |10H16H
B = 973 R6.10.1 1,038 65| 63 + 2 8/8FEES 1084H
B E 970| R6.10.2 1,036 66| 63| + 3 8/20%t%& |10H18H
B BiR 962| R6.10.12 1,033 71| 63| + 8 8/18%t%& |11H17H
B iR 956/ R6.10.13 1,033 77| 63| + 14 9/ 15528 12A1H
B =5 955 R6.10.5 1,033 78| 63| + 15 9/5%5 2 1818
C B E 957| R6.10.5 1,030 73] 64| + 9 8/8HEEE 10848
C &E 956| R6.10.17 1,030 74| 64| + 10 8/26%5% |11H21H
C 11} 955| R6.10.19 1,032 77| 64| + 13 9/3HEEE 128238
C X7 954| R6.10.5 1,035 81| 64| + 17 9/AEEE 1818
C ks 953| R6.10.5 1,029 76| 64| + 12 8/28%t%& |11H21H
C K& 953[ R6.10.12 1,031 78| 64| + 14 9/245 8 12818
C | ERE 953| R6.10.5 1,026 73] 64| + 9 8/29%5 2 11818
C =5F 952| R6.10.27 1,031 79| 64| + 15 8/28%EE 12A1H
C = Al 952| R6.10.9 1,023 71| 64| + 7 8/29%E5 . 12A1H
C RER 952 R6.10.5 1,034 82| 64| + 18 9/AFEE 1818
[ = 1% 952| R6.10.5 1,023 71| 64| + 7 8/25%&%& |11H16H
C hfE 952 R6.10.9 1,023 71| 64| + 7 8/26%52 12818
o] A E 951] R6.10.1 1,031 80| 64| + 16 8/254E 2% 3H31H

SEMETHE | 1,055] 1,121 ] 66] -] +3 - | -




